MATH 251 Quiz 1 - Feb 06 TA: Erik de Amorim

No calculators allowed (or needed). Write complete solutions, not just the answer.

Full name: \S M” oms

Name or nickname you’d like me to use:

S@é«jf@m /76 So&»f/%f{;oe

1. (4 pts) Compute the angle between the following pairs of vectors. Give your final
answer in degrees, for example 120° instead of 27/3 or cos™(—1/2).

a) (3,/3) and (1,/3).
b) (~2,8,8) and (4,5, —4).
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2. (3 pts) Compute the following cross products:
a) (1,2,3) x (5,1,2). '
b) (2,0,3) x (4,0,6).
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3. (3 pts) If vectors u and v are such that |jul| = 2, |lv|]| = 7 and u - v = —4, compute
lu — v||. Hint: use the fact that ||u — v||* = (u —v) - (u —v).
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